6 7 10 11 12 13 14 15 16 17
+5V +5V
7
L e P > ro12
I — net=10:1
3 3 4
P0.29 P0.29 PO.11
net=i0:1 net=16:1 [ net=io:1
P0.28 5 P0.28 s u P0.10
net=I16:1 net=16:1 net=10:1
P0.27 u P0.27 u 8 P0.9
net=16:1 net=i6:1 net=10:1
P0.25 g P0.25 & 10 P08
net=16:1 net=i6:1 net=10:1
P0.24 = P0.24 1 12 PO.7
net=I6:1 net=i6:1 net=i0:1
P0.23 13 P0.23 13 = P0.6
net=16:1 net=i6:1 L net=10:1
P0.22 15 P0.22 = 16 PO.5
net=I:1 net=i6:1 L net=i0:1
PO.21 7 P0.21 = 18 P04
net=I0:1 net=I0:1 I — net=10:1
P0.20 = P0.20 10 2 P03
net=I0:1 net=I6:1 L net=io:1
PO.19 = P0.19 2 2 P02
net=i0:1 net=10:1 [ netf10:1
PO.18 = P0.18 = 2 PO.1
net=10:1 net=10:1 net=10:1
PO.17 2 P0.17 = 2 P0.0
net=10:1 net=10:1 net=10:1
PO.16 2 P0.16 = 2 P03
net=10:1 net=I0:1 net=10:1
PO.15 2 P0.15 2 = P02
net=10:1 net=I0:1 netio:1
PO.14 3 P0.14 3L = PO.1
net=I0:1 [ net=i0:1 L net=10:1
=S B > poo =& B > Poo
Ll | net=I0:1 Ll | net=10:1
connector connector
H34 H34
GND GND
connector
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